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(M1 —1—1 A OVERI, Filin FEREF, FEIERF, SETEF) %)

(1E)
B (117A0) ait (16A) £k (133M)
n (%) n (%) n (%)
{33l 117 (88.0) 16 (12.0) 133 (100.0)
BKEER (M, SD) 47.8,8.5 46.4, 9.6 47.6, 8.6
RIERSFR (M, SD) 47.1,8.5 45.6, 9.5 47.0, 8.6
20-297% 4 (3.4) 2 (12)5) 6 (4.5)
30-397% 16 (13.7) 3 (18.8) 19 (14.3)
40-497% 44 (37.6) 3 (18.8) 47 (35.3)
50-593% 48 (41.0) 8  (50.0) 56 (42.1)
60-697% 5 (4.3) 0 (0.0) 5 (3.8)
ast 117 (100.0) 16 (100.0) 133 (100.0)
UK (M, SD) 45.2, 8.4 48.0,7.1 45.4,8.3
20-297% 2 (3.7) 0 (0.0) 2 (3.4)
30-397% 10 (18.5) 1 (25.0) 11 (19.0)
40-497% 22 (40.7) 1 (25.0) 23 (39.7)
50-597% 20 (37.0) 2 (50.0) 22 (37.9)
60-697% 0 (0.0 0 (0.0) 0 (0.0)
At 54 (100.0) 4 (100.0) 58  (100.0)
)
Bt (117A) Tt (16A) 2k (133A)
n (%) n (%) n (%)
3] 117 (88.0) 16 (12.0) 133 (100.0)
KB (M, SD) 47.8,8.5 46.4, 9.6 47.6, 8.6
FAERSEE (M, SD) 47.1,8.5 45.6, 9.5 47.0, 8.6
20-297% 4 (3.4 2 (12.5) 6 (4.5)
30-397% 16 (13.7) 3 (18.8) 19 (14.3)
40-497%, 44 (37.6) 3 (18.8) 47 (35.3)
50-597% 48 (41.0) 8 (50.0) 56 (42.1)
60-697% 5 (43) 0 (0.0 5 (3.8
ai 117 (100.0) 16 (100.0) 133 (100.0)
U ESR (M, SD) 45589 53-6,6:6 45.4, 8:9
20-295% 2 45 0 (0.0 2 43)
30-397% 9 (265 6 {66y 9 196
40-497% 16 (36+4) 6 {66y 16 (348)
50-597% 7 (386 2 {1066y 19 “L3)
60-69i% 0 (0.0) 0 (0.0) 0 (0.0
=H) 44 (100.0) 2 (100.0) 46 (100.0)
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(K F1—2—1 AIFIELE - BAHIDNN - DR RO E R B4 D% IR IL%)
(1)
&= BT 24K

B (63A) @i (12A)  SBHG4AN) @it (4A) (133A)
RERRERA n (%) n (%) n (%) n (%) n (%)
1 D-MERSE 14 (22.2) 0 (0.0) 33 (61.1) 1 (25.0) 48 (36.1)
(1)8LEE 1 (1.6) 0 (0.0) 1 (1.9 0 (0.0) 2 (1.5)
()L pptEsE 5 (7.9 0 (0.0) 13 (24.1) 0 (0.0) 18 (13.5)
GB)lMElE (DEERATEESD. ) 0 (0.0) 0 (0.0) 11 (20.4) 0 (0.0) 11 (8.3)
(4)EEOARER (LEMENE) 6 (9.5 0 (0.0) 4 (7.4) 0 (0.0) 10 (7.5)
(5)FhZEALSE 0 (0.0) O (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
(6)ABIAIREBIE (REEABIVEESD. ) 2 (32) 0 (0.0) 4 (7.4) 1 (25.0) 7 (5.3)
2 PMmERE 49 (77.8) 12 (100.0) 21 (38.9) 3 (75.0) 85 (63.9)
(1)<BETHMm 13 (20.6) 4 (33.3) 14 (25.9) 1 (25.0) 32 (24.1)
(2)BMHR 23 (36.5) 5 (41.7) 5 (9.3) 2 (50.0) 35 (26.3)
(3)IMIEZE (AMIMARSE. BMZBASAE, 5VF4848) 13 (20.6) 3 (2500 2 (3.7) 0 (0.0) 18 (13.5)
(4) S IMEMHERE 0 (0.0) O (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
(7)

&= A DR

B (73A) T (34A) B (44N Tl 2A) (133A)
RERPEES n (%) n (%) n (%) n (%) n (%)
1 - IMERE 20 274) O (0.0) 27 (6+4) 1 (56:8) 48 (36.1)
(1)FOME 1 4 0 (0.0) 1 23 0 (0.0) 2 (1.5
(2)1IDVARTEZEE 8 (6 0 (0,L0) ¥ 224 0 (0.0) 18 (13.5)
(3)MBLE (DIEEZEATEZ ST, ) 0 (0.0) 0 (0.0) 11 256y 0 (0.0) 11 (8.3)
(HELEOAENR (LEHEIE) S 23 0 (0.0) + 23 0 (0.0) 10 (7.5)
(5)FhZEARTE 0 (0.0) 0 (0.0) 0 (0,L0) O (0.0) 0 (0.0)
(6) RBIEBIRZY (FREEMABINEEZSDT. ) 2 274 0 (00) 4 OB 1 588 7 (5.3)
2 MHIMERER 53 (#26) 14 (100.0) 17 {386) =t {56:0) 85 (63.9)
()<EEETHMm 6 25 5 354 +H=H 256 6 66 32 (24.1)
(2)A¥Hm 24 325 6 429 4 o+ + (50.0) 35 (26.3)
(G)BIEZE (MIMADIE. INEBARSE. SUHEAR) 13 @78y 3  (2+4) 2 (45 0 (0.0) 18 (13.5)
(4) = ME 4RHIE 0 (0.0) 0 (0.0) 0 (0,L0) O (0.0) 0 (0.0)
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(MFE1—3—1 AL B LD E X 25O HERE)

(iF)

&7 LA DR

B (63A) & (128) BM(54A) it (4N) (133A)
e X5 n (%) n (%) n (%) n (%) n (%)
ERYEFRME 18 (28.6) 7 (58.3) 15  (27.8) 2 (50.0) 42 (31.6)
EBRBEFRBEMUNOHERE 4 (6.3) 2 (16.7) 10 (18.5) 1 (25.0) 17 (12.8)
ZEME 14 (22.2) 0 (0.0) 14 (25.9) 0 (0.0) 28  (21.1)
HPEEE 3 (4.8) 0 (0.0) 4  (7.4) 0 (0.0 7 (5.3)
BR-HRKESZME 0 (0.0) 0 (0.0 0 (0.0 0 (0.0 0 (0.0
EBEERS 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
HIREEME 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
mE 0 (0.0) © (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
EOMhOE (—HERESE) 24 (38.1) 3 (25.0) 11 (20.4) 1 (25.0) 39 (29.3)

(F4)
&7 LA AR

B (73A) T (14A)  BHE (44N T 2A) (133A)
HMEXD n (%) n (%) n (%) n (%) n (%)
ERUEFRHE 19 (266) 8 (5728 4 3+8 + (50.00 42 (31.6)
ERBEIRBELVOBERE 5 (68 2 433 9 2665 1 568 17 (12.8)
ZEERHE 18 (244 0 (0.0) 8 2274 0  (0.0) 28 (21.1)
MEEE 4 5 0 (0.0) 3 8 0 (0.0 7  (5.3)
BR-AA-KESEBSE 0 (000 0 (00) 0 (0.0) 0 (0.0 0 (0.0)
BWEEMSE 0 (000 0 (0.0) 0 (0.0) 0 (0.0 0 (0.0)
BIEBEEHE 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
M8 0 (0.0) 0 (0.00 0 (0.0 0 (0.0) 0 (0.0)
TOfMmoE (—ES) 27 40 4 {286 8 H#H82 o sy 39 (29.3)
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(HF1—4—1 AP B LB ORAIE R

(1F)
2 T DK
B (630) o (128)  BE(54N) @i (@A) (133A)

[z EE Lo n (%) n (%) n (%) n (%) n (%)
1. EEQHRSE - ZRNSBECER (AH) 6 9.5) O (0.0) 7 (13.0) 0 (0.0) 13 (9.8)
2. BEOBECLRL CHOBEREECHS

(ERERE) (A2 58 (92.1) 12 (100.0) 44 (81.5) 4 (100.0) 118 (88.7)

(1) BERT1ER] 8 (12.7) 0 (0.0) 5 9.3) 2 (50.0) 15 (11.3)

(2)RERTIN AR 34 (54.0) 8 (66.7) 26 (48.1) 3 (75.0) 71  (53.4)

(3)FERIGN A 32 (50.8) 7 (58.3) 34 (63.0) 3 (75.0) 76  (57.1)
3. BEOEGN, IABEILIEENS

BRERBRR (A2 24 (38.1) 5 (41.7) 23 (426) 1 (25.0) 53 (39.8)

(1) B HI 270 B OFREN TS - (RBR S 5 (7.9) 0 (0.0) 0 (0.0) 0 (0.0) 5 (3.8)

()7, FRERESEIE T 3 (48 1 (83) 1 (19 0  (0.0) 5 (3.8)

)BAFHENEOME 1 (1.6) 1 (8.3) 3 (5.6) 0 (0.0) 5 (3.8)

(4)FE0 BRRZ - ORFS 20 (31.7) 3 (25.0) 20 (37.0) 1 (25.0) 44 (33.1)
4. Zoft (A% 12 (19.0) 2 (16.7) 9 (16.7) 0 (0.0) 23 (17.3)
(7%

417 TR E=7S
Bl (Z3A) T (4N BE (44N @it 2A) (133A)

EznaE=tno n (%) n (%) n (%) n (%) n (%)
1. ERLQHFRE ZRENFECGES (AF) = 9-6) 0 (0.0) 6 @36) 0 (0.0) 13 (9.8)
2. EEOBSICHERL TR ICBE RS S

(ERRESE) (A2 67 (9+8) 14 (100.0) 35 (79:5) 2 (100.0) 118 (88.7)

(1)FAERT 1ER] 8 =6 + +H 5 &4 + (50.0) 15 (11.3)

(2)FFERTIN AR 39 534 16 74 2 @A + 56-6) 71  (53.4)

(3)FFERTION AR 41 562 8 S+ 25 568 2 1666y 76 (57.1)
3. SREORMN. RAKBEMENRHIND

ISR (AF) S IS o) S Gy sz ()

(1) HIEhFEE B O EN TS - IRAREF RS 5 68 0 (0.0) 0 (0.0) O (0.0) 5 (3.8)

(2)TIR, FMERLBFFISE T 3 “4D 1 #h 1 &3 0 (0.0) 5  (3.8)

() BaTHENBOME 2 23 1 Y 2 &5 0 (0.0) 5  (3.8)

(4) BRI SRR E A OBTS 24 329 4 286y 16 364 © 66y 44  (33.1)
4. ZOft (NE) 13 @%8) 2 @43) 8 @82 o0 (0.0) 23 (17.3)




